MECANIQUE Lycée f.BUISSON PTSI

LE VECTEUR VITESSE ET LE VECTEUR ACCELERATION
EN CINEMATIQUE DU POINT MATERIEL

Les schémas suivant illustrent le chapitre Cinématique du Point Matériel du cours de
mécanique.
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Il - LE VECTEUR ACCELERATION

To find the instantancous

acceleration

Instantaneous acceleration points

toward concave side of path.
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P, in Fig. 3.6.
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3.10 The acceleration can be resolved
into a component ¢ parallel to the path
(that is, along the tangent to the path) and
a component a, perpendicular to the path
(that is, along the normal to the path).
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magnitude of velocity.
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to particle’s velocity
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3.14 (a) The skier’s path. (b) Our solution.
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1l - MOUVEMENT CIRCULAIRE
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